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2A

Ground at JC-03

2B

Ground at JC-03

2D

Ground at JC-02

2C

Ground at JC-02

2E

Cam Angle Sensor

- 5 volts (key ON)

2G

Cam Angle Sensor

- 5 volts (key ON)

2H

Short Connector?

~2.3-2.5 volts (key ON 

and START)

2I

Igniter Terminal E

***Ig(f) signal***

~0.5 volts (key ON but engine OFF)

~1.0 volts (engine IDLE)

2K

Airflow Meter

Supplies power to  the AFM.

- 5 volts (key ON)

2L

Throttle Position Sensor

(POW wire)

Grounding this wire indicates 

WOT to the ECU.

Check:

- 5 volts (key on, no throttle 

input)

- 0 volts (key on, WOT)

2N

Oxygen Sensor

With engine running...

~0.2 - 0.9 volts (alternating 

every 1-2 seconds)

2P

Airflow Meter

Intake Air Temperture 

Sensor

~2.18 volts (key ON)

Note: Also check the 

thermo sensor at the Air 

Flow Meter.

2O

Airflow Meter

Receives metered air signal from AFM 

(voltage decreases as vein opens)

With the key ON:

- Between 4-5 volts vein closed

- Between 0-0.5 volts vein fully open

Note: You have to manualy open the 

AFM vein for this test.

2Q

Coolent Thermosensor

~2.2 volt (engine COLD)

~0.4 volt (engine HOT)

***You can also check the 

resistance across the two 

thermosensor terminals… 

Should be:

~2200 - 2700 ohms (COLD)

~290 - 350 ohms (HOT)

2U

Injectors 1 and 3

- 12 volts (key ON)

***Check the resistance 

across the two terminals of 

each injector.

Should be 12-16 ohms.

2V

Injectors 2 and 4

- 12 volts (key ON)

***Check the resistance 

across the two terminals of 

each injector.

Should be 12-16 ohms.

2X

Purge Solenoid Valve

- 12 volts (key ON)

2W

Idle Speed Control

- 7 volt (engine OFF)

- 9 volt (engine ON)

(11-13 ohms between 

terminals of unit).

1A

Room Fuse

Primary +12 volt power 

supply to the ECU.

1B

1) Diagnostic Connector

***+B terminal***

2) Purge Valve Solenoid

3) Idle Speed Control

4) All Injectors

5) Circuit Opening Relay

6) Cam Angle Senor

7) Main Relay

- 12 volts (key ON)

1D

Diagnostic Connector

***MEN terminal***

- 0.33 mV (key ON)

1C

1) Circuit Opening Relay 

(controls fuel system -

located under dash, bright 

yellow connector)

2) ST SIG Fuse

- 12 volts (key START)

- 0.33 mV (key ON)

- 0.80 mV (key START)

1E

Check Engine Light

1F

Diagnostic Connector

***FEN terminal***

- 0.7 volts (key ON)1H

Igniter Terminal G

***Ib(2) signal***

- 0 volts (key ON)

1G

Igniter Terminal B

***Ib(1) signal***

- 0 volts (key ON)

1J

A/C Relay

No Info.

1K

Diagnostic Connector

***TEN terminal***

- 12 volts (key ON)

1N

Throttle Position Sensor

(IDL wire)

Grounding this wire indicates 

No Throttle Input  to the ECU 

and triggers a closed loop idle 

mode (i.e. the ECU controls 

the engine idle).

Check:

- 0 volts (key on, no throttle 

input)

- 12 volts (key on, slight 

thottle pressure but less than 

WOT)

1O

Stop Light Switch

- 12 volts (brake pedal 

depressed)

1P

Power Steering Pressure 

Switch

Grounding this wire indicates 

a problem with the power 

steering system.

- 12 volts (key ON)

1Q

A/C Thermo Switch

No Info.

1R

Cooling Fan Relay

- 12 volts (key ON)

1S

Heater Control Unit

Used to incease idle speed to 

compensate for additional load on 

alternator.

With key in ON position...

- 12 volts (OFF, Pos1)

- 0 volts (Pos2, Pos3, Pos4)

1U

Tail Fuse

- 12 volts when TNS relay is 

closed (i.e. park lights are 

on). Probably used to 

incease idle speed to 

compensate for additional 

load on alternator.

1V

1) Clutch Switch

2) Neutral Switch (on transmission)

With the engine off...

- 0 volts (Neutral, Clutch Engaged)

- 12 volts (Gear, Clutch Engaged)

- 0 volts (Gear, Clutch Disengaged)

Output Collector of transistor 1

- About 50.0 kohms between this terminal 

and the GND terminal.

Output Collector of transistor 2

- About 47.0 kohms between this terminal 

and the GND terminal.

Input Base of transistor 1

- About 659 ohms between this terminal 

and the GND terminal.

Input Base of transistor 2

- About 669 ohms between this 

terminal and the GND terminal.

Tachometer Output Signal

- About 5.26  Megohms between this terminal 

and the GND terminal. Many DMM's won't 

measure this.

Power Supply for Ignitor and Coil Pack from 

Ignition Switch

- About 5.28  Megohms between this terminal and the 

GND terminal. Many DMM's won't measure this.

- 12 volts (key ON)

Ground Terminal

Ignition Output Signal for ECU

Goes to ECU terminal 2I

- Infinite Resistance between this terminal and 

the GND terminal.

ECU Terminal 1F

ECU Terminal 1D

ECU Terminal 1K

Using a jumper wire or 

paper clip to ground this 

terminal puts the car into 

diagnosic mode. See Check 

Engine Light (CEL) section 

of garage for blink codes. ECU Terminal 1B

Ground Terminal

Ground Terminal

Air Bag Module Terminal 1F

Tachometer Output Signal

Ignitor Terminal D

Cooling Fan Relay

Grounding this terminal 

should turn on the cooling 

fan.

Fuel Pump Relay

Air Flow Meter Terminal Fc

Grounding this terminal should 

turn on the fuel pump.

Horn Relay

Grounding this terminal 

should turn on (or sound) 

the horn.

Note: The resistances listed to the 

right are only examples taken from 

an actual, working unit, so don't 

worry if your readings are different. 

Only suspect a failure if the 

resistance you measure are way, 

way, way off.

Example for terminal B:

701 ohms = just fine

1,868 ohms = replace the ignitor


